Review Questions for Exam 11
Algebra 2

1. Express iz  5./7 insimplestradical form.

82
22
6-7
618

bl e

2. The expression JE 4482 5 equivalent to

1. 27
2. 52
3. 72
4. 132

3. What is the sum of 4-/12 and 2-/27 in simplest form?

1. 5.7
2. 6439
3. 1143
4. 14-53

4. The expression 2+4f3 is equivalent to

2-43

1. 11-3

2. 7-4-f3

3. 7+4-3

4, T+43

7
5. The expression f3+1 s equal to

J3-1

1. -1

2.2

3. 2+43

4,

5+ .3



6. Express as an equivalent fraction with a rational denominator.

L 204513
2. a-5.13
3 20+5:43
3
4. 20+5413
29

7. Ifx >0, the expression U} )(,\ Px ) is equivalent to

2x
2x
x2-f2
x-2

Sl A

8. Simplify: ~/50~*s*
5!".92'-45

25rs

5'\5 trgt
2

A e

Srs

9. Ifa> 0, then %% +16a° equals

. fa
5-fa
Sa
Ta

bl ol

10. Which expression is equivalent to T +a2 ?

-7

9

5
-1
9

+2.014

5

T
14

(9]

>




11. Simplify the expression: {5 (.Jﬁ +2.05 )

1. 10+5+2
2. 5+10-2
3. 15+2

4, \E+2ﬂ

12. Simplify the expression: 2,5 ( He=ayD )

343 —12
345 +12
67 —12
6-1 +12

sl .

13. Simplify the expression: _fg ( JZ+ Jﬁ)

410

16
16-2
4+3-2

sl s

14. Simplify the expression: {z (Jg +.3 )

TN
36

1
2
3.6
4. 32 +2.06

15. Simplify the expression: 7 J}T[ Jg? +.J6 )

Loay oy +12.y
2. 2yfoy-2.f6y
3 a4y oy +2.f6y
4. 2y, [y



16. Simplify the expression: JJE ( s J; N },)

-x2y
xzy
-5x2y
_6xh2

Eal S e

17. Simplify the expression: ( e ) (ﬁ e 4)

—6+2-2
—6—-2-2
6+2-2
6-2-2

e

18. Simplify the expression: ( e 2)2

83
843
52— 16~
52+ 16-73

Sl e

19. Simplify the expression: (3 +45 )2

1. 14+ 65
2. 14—
3. 14
4. 4

20. Simplify the expression: 6+f8 « 242

1. 12-46
2. f192
3. 24
4. 48

21. Simplify the expression: Sfr v frs

1. Sprals
2. Safris
3. Oajlrs
4

. Srs



22. Simplify the expression: 3EV20x" +y4f2y

1825

1800257
18x%y* \.'{5
18x°y7 5

el

23. Simplify the expression: 546
1042

N
N =
ey

3. 3
7
3
2

5.2
24. Simplify the expression: ﬂ

1. Fay

25. Simplify the fraction: _%_
Ne

1. 42
2. 242

=&~ |S



26. Simplify the fraction:

S

1. 21

-

2. 421

3
3. 743
4. 37

27. Simplify the radical expression: _fzg.* 7

N
6x2y

61y

Gyl xly

Sl e

28. Simplify the radical expression: .. J155,* izt

Smyzaf5z
5x°yz* 251
S5xtyz?f5x
5xyz’ 5

bl e

29. The expression 4,z 2B - % nas® +7ak N is equivalant to:

L oap.fen

2. 16abf2b

3. —Sab +TabJ6b

4 —5abA2h + TabafoR

30. Express 5+/3x° = 2+/27x" in simplest radical form.

1. x+3x

2. —x3x
3. —f3x
4

Cf3x



31. Simplify: 3;541.4};5

L 1gmifn?
3oifens
2720y 32t

3xy 236y

il

32. The expression 3{_1g 3z is equivalent to which of the following?

1. 4,253

2. ~4y2°3232°
3. _0yt3f0y2
4

. Cannot be simplified

33. The expression #fz-,7 3zl is equivalent to which of the following?

EMEW
Bxz? 422752
EMEW
41}22{1@

p—

T

34. Which of the following expressions is equivalent to {h 2xtyt  HaxyS ?

1. 31},3@
2 4fary
4y ife
2243’

35. Which of the following expressions is equivalent to {{1 62Ty {h 0%°y° ?

1. 53:];5;23.3);3
Exyjfflﬁff
2xtyif5xty?
A4x%y 310y

Ll

il



36. Which of the following expressions is equivalent to 4/810?

1. 95
2. 3410
3. 9410
4

345

37. The expression ez 16 is equivalent to

8a*
848
da’¥a
da¥la®

bl A



